TEST NO. 106 2o® A
ELECTRONICS

hne, - 75 Minutes Max Marks : 90
Part- A

40 x 1 = 40 Marks

1. A class-B push-pull amplifier suffers from distortion whichis ....
a) cross over  b) harmonic c) excessive d)intermodulation
B- 85058 HS-& S5506° 53 Dapdic0
a) 48y otrde b) o DERde ¢) 0gs HERDHe ) LossBosEio

2. Inclass- AB amplifiers, the current flows through the active device for
a) less than half of the during of input cycle
b) half duration of input cycle
¢) more than half but less than full cycle duration
d) full duration of input cycle

AB 85658 S5ep06° DI5y,8 Hariro PHod BoBEo

a) DO HOBBO BESEO B0 B 5555 HIHE

¢) Ry So8B0 OPBED B, D8 BP0, Y WEO B B, P00 SIfHE
d) ey sodso ipg wEeo axE

3. Which of the following is the advantage of push pull amplifier?
a) the magnetic saturation of the core by A.C. current does not occur
b) cancellation of even harmonics
¢) cannot be used for class B or class AB operation
d) The gainisinfipite
5 - 106 5o koo hcincio
8) A.C. 53,8 B¢ Brisoys’® eabiros Soghatno HIEHS.
b) seoseoezren 65
¢) B 3c» AB 8558 Suroné® HH@rBossnm
d) exgmo80 evoB0
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...... amplifier has output closer to the output of a half wave
a) class - A b) class - B ¢) class - C d) class -

. BBBO BRESYES, WPBOOO DBWSRO BeSEtED wearny SR )
a) A - 85058 b) B - s558 ¢) C- sssa d) AB -

The output impedance in an ideal op-amp is

a) zero b)40Q c)80Q d) infinite
855, HOBAERES B350 DFEHOBHGEo

a) dmgo b) 40 c) 80 () d) esoso
A virtual ground is a ground for

a) voltage but not for current b) current but not for vol
c¢) both current and voltage d) neither current not vol
Seiisd fPol B0 B b8 HoDODOWBD |

a) &@e28, EBoknEd BREO BAD b) 58008, &:8es8 SPFo BN

C) 5300 oo £:8e SoboBs d) 530k shexain &8

The voltage gain of a differential amplifier for differential mode
w.r.l. the common mode signal is

a) equal b) very large cymedium  d) very low
Pori5 68 Sodore, o B 5580 DS, 4550068 Hodens
a) Hsmto b) egms0 c) epomo  d) ed@o

In an operational amplifier at higher frequencies
a) output voltage tends to be 180° out of the phase with the input w
b) output voltage lags with respect to input voltage |
c) output voltage tends to be in phase with the input voltage

d) output voltage leads with respect to input voltage

OOE DR 55, HOBSPES HIsost

a) BESHES sroasn QIS &g LEPOPEY 180" BORBBH 9
b) Bi5:5S &:8es 2SHE By DisoBB Hokod

C) BISHE e, a5 EHFes Dot &8 BIETHokrow

d) BESHE5 &8s 1S5 £ Bam, B00BOLOD.
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power supply rejection ratio should be

a) as large as possible b) as small as possible
¢)nearly 0.2 d) nearly 0.8
48 @550 84,525 DHB
8) B HEOTP HO@D b) esmore Howd
¢) PR 0.2(P Homd d) ceeed) 0.8 P Howe®
The ripples coming from the power supplies generally cause .... in amplifiers
4) cross noise b) distortion
¢) humming noise d) noise whistling
Hassoiiood 54 05§, SPod® reritinore HDO BenTEa0e.
A1) ENDEROIRD b) &fesso
¢) Sep,0l aecnd d) me0x® pevoss
: ﬂ*_ihap-:.ﬁver amplifiers are called
a) magnitude b) large signal amplifiers
¢)small signal amplifiers d) none of the above
8) So5R00 b) Bruysods sgeeec
¢) vgiHods g0 d) epsHasseg)
. Output voltage in logarithmic amplifiers is equal to
a) input voltage b) log, (input voltage)
J_r_:] log,, (input voltage) d) 1/input voltage
ROBIERD SES0E® BISHES &5 HOB HrmBor §obnos.
2) a55¢56 Jes b) log, (=sozpes &es)
:8) log, (%2565 &ges) d) 1/ 285545 &g
3. Op-ampisa..... amplifier |
Hi;») transformer coupled b) D.C.
¢) differential d) RC coupled
BoBasRIsS a0 e
a)dosysasnrgo b) D.C. ¢)Parso  d) RC aswso



14.

15.

16.

17.

L&,

In op-amp when the non-inverting input is grounded, the mvaung_ill

a) attains high values b) looks like a virtual ground
¢) reduces 1o &g d) Tt works as a bufler
SOBASRES SIEOSS, TS Ex,Qol A (PoBBNS, aitsgol aSDS
) e5s DS JothHEdod b) s5t5é fPolios Hokood

C) &R0 BHEoD d) esbents 50500

The op-amp has

a) complementary symmetry type of power amplifier

b) transformer coupled push-pull amplifier

¢) single ended transformer ~nupled amplifier

d) differential amplifier

DHoBuseE,E S5Eo (0p-amp) BooBiore Hokwod

a) BoyRookd b Gsgeo  b)Dosys o, HH-9S eoly]
C) &8 @S5t HoBUS g, sohipd d) Soep,s Hosgso

The CMRR of an op-amp is

a) medium b) very low c)verylarge d) Zero

a) ARRao b)eggo C) @850 d) =0
Figure of merit for op-amp is

a) bandwidin 1) Zaii

) (gain x bandwidth) d} (eain x band width x slawq
SeBatmS digao BB ehimol "
a) Hydaey b) exgrodio

e) (emgpoda X 5§ adey) d) exemodio X odliaey X 4z 8
The use of op-amg s generally not preferved as

a) integrator b divider ¢ differentigior  d) subtraetg
Regpisore HOBMREE DA En BP0 JEERHTTENR

a) mefifioh b} B@u6 ¢} Apar auet d) odpgh
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9.

21.

The loganthmic amplifier finds application in

a)divider b) adder c)multiplier  d) both (a) and (c)’
HOBHERD BEBO @oEkiHo

a) BPEb b) sas C) HoPPs d) (a) e (c)
The first stage of an op-amp is always

a)a darlington amplifier b) aclass B push -pull amplifier
c¢)a differential amplifier d) a class B amplifier

a) @QOG Bg¥o b) B 8558 55-98 eohps

C) emis,8 Bgso d) B ssese sgso

The difference between phase and frequency modulation

a) lies in the different definition of the modulation index

b) is too great to make the two systems compatible

¢) is purely theoretical because they are the same in practice
d) lies in the poorer radio response of phase modulation index
4 BoOD b, SO HOWGH0 Boriso Bae

a) B BXigEeso SRrERBAS K356 Bhiso

b)Bod Hsipen ednisors Potbo

c}b:goﬁa’:&am Sotio %ﬁ@m oo

d) B8y BHS 0BG Bonopo SR DR By 5P Hosbo

Which one ut the ﬁ:itluwmg is ﬁﬂl necessarily an advaniage rm over
AMY =t |

a) better noise lmmunity]s pmwded

b) the transmitted power is more useful
¢) lower bandwidth isrequired: <
d) less madulating poweris required” .

Ii‘-hh‘!i&m-FM ﬁwmﬁﬁim@‘:

o

U}Mmmm

ﬁ)ﬂﬁmmm Wome 7 ) ey B aayBBo 555 Powo
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2.

24.

23.

26.

In FM, the frequency deviation 1s

a) constant ¢) proportional to modulating frequency

b) zero d) proporiional ic amplitude of modulating signal
FM &8 2mibidig, 520

a) po b) A0

¢) SrEyBBol P08 etodtERtoars0s? Hokood

d) SreayBBols b sohbmntSt: esiErt MBod® PHokood

One can provide two or more voice circuits on the same carrier by
using

a) DSB-SC b) SSB with pilot carrier

c) ISB system d) SSB-BC system

2.8 apirs sorsofots Sod: Bor BOBEENOW FROWD BTG Sod Y
DHRRBOO Soato BNy,

a) DSB-5C b) SSB &aetn pels Boanb

c) ISB »igso d) SSB-BC &pso

100 percent modulation is produced in AM when carrier
a) amplitude equals signal amplitude

b) amplitude exceeds signal amplitude

c) frequency equals signal frequency

d) frequency exceeds signal frequency

AM &% 100% SrEBaS HYSSERDE Boad 35

a) sobion b, biid echbn b Hhmborr Hoard

b) sohin b fiid sobons: £0w Homd

¢) 2eszi0 Mt §3508 Bemitore Homd

d) 26950 BeiS HB:00 D00 Hod

Modulation is the process of

a) reducing distortion in RF amplifiers

b) generating constant frequency radio waves
c) improving thermal stability uf;ransiétnr

d) combining audio and radio frequency waves at the transmitting €
of a communication system
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_maodulator is an indirect wav
+ 3 R i1l i 1
¢) armsirong
a)pedss FET

¢) b,

For Armstrong modulation svsio
is not valid?

sa Bt ooy Hgee’ FM o s

L STt KSR AT Do oS =0k

5 _1 -'|'~1'I'|Pi'":|_I Il| - ,_'. 'I.

) ragetuges Ipodar s o
B Sdged

b oesh Sl

d) 506955 .39 PRI

o which of the fi-llowing statements

a) freqquency multiplitication moust be used

bjequalization is unnecessary

¢} the system is basically PM not FM

d) FM should be wide band

&b,2pol SeEyBa0 %ﬁ’:ﬁ%ﬁa RotnEd SR DPERoE? HD BN =D
a) Beiteayg, Ey@Btem SRDLON & SBRHCERD

b) 808 BBLS esddo 8t

¢) psmoBorn S50 PM e sotoos oo FM m syotecs
4) FM sppnom dherpolim gjo@d

In frequency modulation

a) the frequency of carrier varies
modu ‘ating signal

according to the amplitude of'the

b) the frequency of carrier varics according 1o the frequency of the

modulating signal

¢) the amplitnde of the carrier vares according to the modulating signel

41 the nhee of the modulating signal varies as a function of carrier



30.

31.

32.

DRSEY, BREYLBHDE

a) arEpsBcon OENa0, SREBiol Rid eolhhnfs exoribec™

b) srimsasors 2moEd,0, SREBBol biif 2iE)y8 et

¢) apspBston sobhns (5oHH HOMB) HrES8obk Miss

d) Seesa BBob iiS 654, apdes BB Bub:RY,0 SHoasore

In a super heterodyne receiver high intermediate frequency

a) improves selectivity

b) increases tracking problems

¢) reduces adjacent-channel rejection

d) mixes the incoming signal

5256 FRS o8’ 08 mobf,BaiS AebEYHRo

a)oBgoln epso Sigon

b) 8065 pepSigo 8 Beigoe

C) @Fots wubS oY it 8L000

d) aSsmoots b Mfol Jrgon

BCD code i8 ...cocrunsne

a) a binary code b) an alphanumeric code
c)non-weighted d) the same thing as binary numq
BCD %6

a) e So6SE b) &8 semitinSooESh

c) &xSooep,0 B0 858 d) B:66 sonfeo® Hokood
A+B =Y is the Boolean expression for which of the following?
a) NOR gate  b) AND gate ¢) XNOR gate d) OR gate
A+ B =Y oroaod $f8deo Bod aeBs? S0 draiigon
a)NOR oo b)ANDemyo  ¢) XNOR argso d) OR angtic
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36.

37.

38.

The basic DTL configuration is ... gate

a) OR b) NOR c) NAND d) AND
20 DTL sx® Boo cegmei oo

a) OR b) NOR c) NAND d) AND
The flip-flop circuit is

a) Unstable b) multistable ¢) monostable d) bistable
5 - &b Boawo

2) RUOTP BOHLD b) SofPendre okood
¢) B FHendrr Hotod d) Eendre gHokood

In a RS flip-flop no change occurs during

a) set mode b) reset mode

¢) disabled mode d) prohibited mode

RS - £5 - 2565 Boo HBARES B By, BN

2) 5D b) SreSant ¢) Bheodans d) grirosbart
An ASCII input/output code 1s ...... bit code

a) two b) four c) seven d) eight

ASCII 2555 / ©e5:9¢5 858 ot i SGi HmdHoes

a) Boto b) ey C) Sdd d) onmoo

For digital IC s the most widely used 'Bipolar Technology'

a) ECL b) DTL c) TTL d) RTL
Bestots IC 68 =8 Bo6ent Bood

a) ECL b) DTL ¢) TTL d) RTL
For digital ICs which of the parameters is not specified?
a) Noise margin b) Bandwidth

¢) Gate dissipation d) Propagation delay

9A
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e g laps are us=d in shift registers

i T ¢) SR 4y IK

25 sters e 2oo flip-flops Secined® an@nORDT
.1
Y SR SR 1

C 1 o 1 1 i

PCUHION Cit ONUY B2 S0 M A0 tne g

CEL

a) (Curmoniral o saduet of sum form

¢} sum of product torn oy differenc s form

K 823 848 Hx»4 50nd So So8d67 Jo Hachresy Dm
4r et =] .

srbEgoddaiolioss

L™

4) BADSS b, b) Spal s Hio 90,
¢) 58 8D gos§ 4G, d) a50§ 6,

Part- B

30 Maffl
(One eV energy is equivalent to

a) 2.0 ergs by 1.6 x 10" joule

¢) 0.6 x 10" joule d) 3.14 x 107 joule

T eV 18 B8 Bbndc

a) 2.0 egen b) 16 x 10" e

c)oe X 107" &en dY 314 X 107 SPao

Fermi level represents the encrgy levet with probabiiity of its occupy
tion of

a) Zero b) 25 percent ¢! “umnercent d) 100 percent
PR,ARa08 DowoHe ABRRoe® fpoo D oeend

a) SR0,0 hon g JF R a0 100 wiEko
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a)l by I G 1l hy 17)4

Which of the following i= 4 semi conductor

a) Dizmond b) Arsenic ¢) Phosphorous ) Gallivin Arsenide
Bol a0ET DO egauinns

a) 3o (Fmo) h)amgns | C AR d) meav o edsa

An intriesic semiconductor ai absolute zero
a) becoines extrinsic semiconductor

b) behaves like an insulator

¢) disiniegrates into pieces

d) becomes superconductor

Doty SYRTS B Gerse o meeesen

a) e SEDERSIEIrP SRDEROM
b}ﬂ-ﬁ%@nﬂﬁ@mmﬁnﬁamﬂm

¢) Swgeore HESEHOD

d) opaemmens Srtmmon

Fora gemaniurﬁ P-N junction, the barrier potential is nearly
a)0.15 v b)0.3V c)045V d) 0.6 V
a8f,0at0 F-Hﬁﬁnﬁﬁ*&n&pﬁg&ﬁﬂ%ﬁa

a)0.15v b)03V c)045V dy06V
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49,

50.

A Zener diode is invariably used with

alreverse hias b)Y forward hias  c) zerobias  d) any of the ai
SPb BBRGED Bot PBE SHERG

a) e&dg0 b) D50

C ) 05,0 d) mowé® HDHS

Regarding a tunnel diode which of the following statements 1s indj
rect?

a) width of its depletion layer is quite large
b) it has negative resistance over a specific range of its forward vuj
¢) its impurity concentration is about 1000 times greater than that

ordinary junction diode |

d) charge carriers are able to tunnel through its depletion layer vell
easily due to its extremely small thickness

RS BARED BoLOHOW SOk DDES DO HODOBO B

a) Bandrs Hroio BBHBP Hokoo.,

b) 55 85,06% &8 0 oS L0EDSE0 SOMRHOLOD

c)mmmm 1000 50 epBorr HDHHES Mors]
ERROLO0D.

d) Ba &u5 B00650 wre BB HoBLoBE SBS B Hogor &
e LR <FPNEDDEBON0,

The microwave device used as an oscillator within the freged
Range 10-1000 GHz is

a) step recovery diode b) Gunn diode

c) Schottky diode d) IMPATT diode

10-1000 GHz 22:6:9%,0 0596° 800 IS Ho850 GFosors HODN
a) HRos5s BARE b) 6585 GoREG

c) &pd, 5B d) moawedS GRS
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